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What HaPPened to the Basel)all Player WllO Was Unfaithful to His Wife?

Write the trinomial in factored form. Find the factors in the two columns of binomials. One factor will have s 1
a letter and the other a number Write the letter in the matohmg numbered box at the bottom of the page E VEIL

Setl SetlAnswcrs 'JD Sefs $6f3A"$W6r$
a3x +5x+2 @ (x +2) © (x-1) a5k + 4k -1 e(k—Z)
§ 2 +7x +'3 @D (x +1) Q(zx—l) EE b. 2k?> — 5k - 3 D (7 +2)

© 2x+3) @ (x+3) w © (i -3)

. 7x2 —9x + 2 e(7x_2) e(x_5) EE¢;3k2+2k 5 @(2k—3)

d. 3x2 —16x + 5 D (2x +1) ®(3x+2) d 7k2 —13k — 2 @® (k-1
8 ® (3x-2) @ (7x+1) ENE : @® (5k-1)

6. 6x2 +11x + 3 @ (x-1 @ (x+1) 6. 10k2 — 3k -1 D (2kc - 1)

Set2 Set 2 Answers g%ﬂ Set 4 Answers
a. 8b” + 6b +1 @®GBr+2) @ ( 2 e (5v +4)
b. 86> —9b +1 D@r-1) O | D (20 -3)

®(@v+) © (-1 EE ® (20 -5)
¢. 6b° +13b + 2 @(r+2) @ (b+4) \ \ ¢. 40> =150 + 9 © (3v +1)
d. 12b? —13b + 3 @ @Br-1) @ (6p+1) HE d 307 +160 -12 @ (2v-1)

@D ((r+8) © (4b+1) : D (v +4)
e. 3b”> +14b + 8 O b-) © (3b+4) | e 80° —14v-15 D (30 - 2)
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